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Relação do aço pilares

P1 P2 P3

P4

AÇO N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 256 88 22528

CA50 2 10.0 16 VAR VAR

3 10.0 16 138 2208

4 10.0 48 188 9024

5 10.0 16 147 2352

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

5.0

150.4

225.3

102

38.2

PESO TOTAL

CA50

CA60

102

38.2

Vol. de concreto total (C-25) = 1.76 m³

Área de forma total = 29.4 m²



 
 
 
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